dB-Killer n°32B
P/N 307762801

Carbon Heat Shield
O P/N 0814449001
E13) 92R - 02 10399

2x Washers
Flange Nut M8 De.15 Di.5
P/N 200298 P/N 406580
Washer 2x Screws
De.24 Bi.8 M5x12
P/N 200321 P/N 201031
bike's frame

%

S.S. Muffler
P/N 3014451485

Q
LY
4x Gaskets

“ w De.14 349
P/N 200371

Allen Screw \ 2x Mounting Plates M5
M8x50 P/N 204555
P/N 200461
Alu Spacer
De.27 08,5 21.60,37 38 ,’
P/N 204321

ART. 14451EB

S.S. Clamp @63
KOVE 800X PRO / ADV P/N 300063530

SLIP ON - LV ONE EVO - BLACK EDITION - APPROVED



	14451EB
	Vista del disegno5
	Vista del disegno6


